GATOR UTILITY VEHICLES

MAINTENANCE PLANS



Items included in service:

- **✓** Change engine oil and replace filter
- **Replace** air filter
- **Replace spark plugs**
- **Lubricate drive line**
- **✓** Grease cargo box tailgate strikers
- **✓** Clean radiator
- Add fuel stabilizer (if requested)
- **✓** Wash machine
- **✓** Perform 25 point inspection

25 point inspection includes: inspect battery & clean if necessary, check all safety features, check tire pressure, check and tighten wheel bolts to correct torque, check brake fluid level, check 4WD front differential oil level, check transmission oil level, check brake fluid level, lines, and connections, inspect driveline CV boots for tears and punctures, inspect park brake for proper function (if equipped), inspect transmission shift lever for proper function, check cab air filter - HVAC models, check air cleaner dust unloading valve, check HVAC dust unloading valve - HVAC models, check drive belt condition, inspect and clean primary and secondary clutch, check compressor idler bearing - HVAC models, inspect compressor belt - HVAC models, inspect alternator belt, check toe-in, check brake pad wear, check park brake oil level, check/clean spark arrestor, check and tighten all hardware, inspect cargo box lanyards, test drive and check functions.

TE / TX Gators

\$399 - 2 Services \$799 - 4 Services

XUV / HPX615E / HPX815E

\$549 - 2 Services \$1099 - 4 Services





^{*}Services can be claimed annually or as required based on hours accumulated *2 & 4 service bundles must be utilized within 3 and 5 years of date of purchase respectively

RESIDENTIAL LAWN MOWERS

MAINTENANCE PLANS



Items included in service:

- **Change engine oil**
- Replace oil filter (if applicable)
- Replace air filter (inner and outer)
- Replace fuel filter
- Replace spark plugs
- Lubricate/grease machine
- Add fuel stabilizer (if requested)
- Test battery
- Level the deck
- Adjust tracking on ZTraks
- Inspect blades
- Inspect hydrostat functions and oil levels
- Check clutch if equipped
- Check all safety features
- Check charging system
- Check pulleys and belts
- Check tire pressure & adjust
- Check steering linkage systems & functions
- Check all gauges
- Clean underside of deck
- **Clean machine**

S100 / S200 / X300 / X500 X700 / Z300 / Z500 / Z700

\$449 - 2 Services \$898 - 4 Services

BLADES CHANGED ON 2ND & 4TH SERVICES





^{*}Services can be claimed annually or as required based on hours accumulated *2 & 4 service bundles must be utilized within 3 and 5 years of date of purchase respectively

COMMERCIAL MOWERS

MAINTENANCE PLANS



Items included in service:

- **✓** Change engine oil
- Replace oil filter
- Replace air filter (inner and outer)
- Replace fuel filter
- Replace spark plugs
- Replace blades
- Lubricate / grease machine
- Add fuel stabilizer (if requested)
- **Test battery**
- Level the deck
- Adjust tracking on ZTraks
- Inspect hydrostat functions and oil levels
- Check all gauges
- Check clutch if equipped
- Check all safety features
- Check charging system
- **Check pulleys and belts**
- Check tire pressure & adjust
- ✓ Check steering linkage systems & functions
- **✓** Check all gauges
- **✓** Clean underside of deck
- **✓** Clean machine

All QuikTraks, Z900 Series Including Z994 / Z997R \$599 - 2 Services \$1199 - 4 Services





^{*}Services can be claimed annually or as required based on hours accumulated *2 & 4 service bundles must be utilized within 3 and 5 years of date of purchase respectively

COMPACT & UTILITY TRACTORS

MAINTENANCE PLANS



Items included in service:

- **✓** Change engine oil
- Replace oil filter
- Replace air filter
- Drain water from fuel tank & replace fuel filter
- **✓ Lubricate & grease machine**
- **✓** Inspect alternator belt
- **✓** Perform cleaning on engine exhaust filter as required
- Add fuel stabilizer (as requested)
- Adjust front wheel toe-in
- Adjust tire air pressure
- Check front axle oil level
- Check wheel bolt torque
- Check & adjust fan belt
- Check all hoses and clamps
- Clean radiator & oil cooler fins
- Clean and check battery
- Wash machine
- Complete full machine walk around inspection
- *Cab machines:

replace air filter check mounting bolts inspect wipers

All 1-5 Series Compact & Utility Tractors

\$1199 - 2 Services \$2399 - 4 Services





^{*}Services can be claimed annually or as required based on hours accumulated *2 & 4 service bundles must be utilized within 3 and 5 years of date of purchase respectively